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Following steps re,,ré_],wed:
58735.01389 : Step 1 100 ns
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Mdev

Tdev /s

649113 s: Mdev= 0.52646E-13 Tdev= 19730 ps
324556 s: Mdev= 0.90937E-13 Tdev= 17040 ps
162278 s: Mdev= 0.11410E-12 Tdev= 10690 ps
81139 s: Mdev= 0.14555E-12 Tdev= 6818 ps
40570 s: Mdev= 0.20692E-12 Tdev= 4847 ps
20285 s: Mdev= 0.29766E-12 Tdev= 3486 ps
10142 s: Mdev= 0.41549E-12 Tdev= 2433 ps
5071 s: Mdev= 0.45414E-12 Tdev= 1330 ps
2536 s: Mdev= 0.43668E-12 Tdev= 639 ps
1268 s: Mdev= 0.55135E-12 Tdev= 404 ps

634 s: Mdev= 0.83014E-12 Tdev= 304 ps

317 s: Mdev= 0.14385E-11 Tdev= 263 ps
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